was | [ &Hs |
LEINGRSPK - FHEFROMAR/BFICONT

OzEMMAHKRTITONSGCENTFTESNTLWSRAMK -BKERICOVTOEE 1
BEXROMARIBOMAEMEBREIDLGIEL08RARELRIAFEFND,

(BAT)
(MNEE-#HBEXOHFEE O+Q=4500EMEE

D13k MHFEME (HEE- %) x 38 (SRFWEESE) =4,000E8MAFEE
QERMEIL (1 R4 1E) =500EMFEE

X - R REXL DA
EEHE13,000EARE SHEE7,900EMREE Sbih A E4500EMREE
()M AFEMEE 13JKHIEE xHl1a1.74=3,500EMEE

PR KRR ARKEXRBFIZB T52EMKEX (EE-HEH) CRA K AR EEEX (A
BEEZE)DESEHHE424:1(13,000:3,500)

HEERREERIMNEFONRRESKIIEFEZD2LB% (EERSEEED2E)

(1)4+(2)= 8,000 = 0.8kHIEE



BEH

SEINGRIPFY - REFROMAHRBFOMEMIR. HHHOASICONT

O2EDHMARETITONACENFEMNTVSREMK -BAERICOVWTHDEEE
BEXOMARBOMAERERDEIEFREMEFOEGEIBR1:1ERATFNS,
(BZ7A)

(1) EE-#EEXOMAEE O+2=4500ZMEE
D1.3JkMFERE (HE-FHEE) x I 3E (BRMEEZSE) =4,000EHFEE

SRMIEICHITAHMAEDEHEFFELHEFDEE=#11:2
-EERTE 1,333(EM

-THETH  2,667{8H

QEKMEIL (1R4H1E) =500{ZEMFEE

- Th BT 4% 50012 H

()M FEMMEZE 1.3JkA xH4a1.74=3500EMFEE

TEDBRNREXDEBEFBEETHAHDE S =H423: 1
-ERERTIR 2,625(EH
-THET4F 87518 H

#FERFE (1)4+(2)=3958{ZM
mETH (1) +(2) =4,042{EH

#ERTIE - ThETAT=49:51=1:1



BEY

WA BHOHBODIEREICDINT (F)

O2EDHMARETITONACENFENTVSREMK -BAERICOVWTHDEE
BEXOMAEEOHMAEMERIDIMEFRETEHFOEE BR1:DICEHE R
RO B il 18 B [ K D1 UNER GRlEEE) D LE RO 1 1ITHRDRIBMEERTET Do,

OLE. SEIDE- A D= IETHDERFFRLGHRFIEEC LD IRFETARB DB 2 SRR
DB, TEFOANKREN LMD, S| LITOEEMRETATHOENEZ2:
SEEICHKREIT HAETHIFEAMA 1 1ITEDERRAFEND,

1. ARICE T SEHREREZE
DEANEEFEZER + QAEITH:E + OHEmMBIERZENDREBEL

(&)

1,500EMEE + 4, 800fEMEEE + 2, 000{EMEE =0. 8JkMHIEE
FERFE 600EMEE + 2, 750{EMEE + 800EMEE =0. 4JkHFEE
LilES 900{EMHEE + 2,050{EM%EE + 1, 2002 %2 % =0. 4JKHEE

2. THEDS|LIFEE

DEAERFRHES #EFE200M, HETA300H
QA EZFH (1,000KH71-Y) #HEFRI9O5M. HEHRN605H
Qe EmBFERENREL MITHREELY (BERFR 4%, THT# 6 %)

3




A HOBFIBEDA A —

O HEHBHHBEAEER L&, ARIMERALEIHR ICHLREERDS
- E N BB ER OBLR DR RA 72 5| B RO 72X ZBOEREO 5] B & & 12 23 FEERLHIdOESFHE (3 A
32 BB D PTG HEBRSE D LB LI X 2 #3I4ERY 0. 06 IR CPAEEER—R)) A1 BLRIZTE .

BEANMERBHFIN DS LT + | AT + | BEAERBOFMBERFORELALGDIES

0.20 JkHM J

=0.8 JkMEE

0.03 JkF/4 (4 500 F) x5 & 0.09 kFM/F (1 H/AK) x5
=0.15 JkH =0.48 JkH

[BAERBIFEIOF 500 M5| LT, B 5 F -G IEZHO5]| LT, HAR 5 F]

@Agﬁﬁwﬂiﬁﬁlﬁ%wiiﬁbﬂ‘éwﬁﬁ

#90.05JkM #0.053k M #40.053k M #90.053kM SfE AFEEBLUE 6 A X3k
#90.03 3k #90.03Jk #90.03Jk #90.03JkF #0.03kFA —[-ELA R 839 %8 (££500/3 1)
#90.049k M $90.09JkH #90.09JkH #90.09JkH $90.09Jk #90.053k A E ZHEI EWFUIA/K)]
SHI G IZ B W T, IRFEARE DA T L DI E
Z2UB Wi oy 21 B F 2 Y,
0.043JkH 0.143JkH 0.173JkH 0.173JkH 0.173JkH 0.095kHM 0.03Jk M
244 254 [ 264E[E 274 [E 284E[E 204E & 30 E

BB E. AT D BB 2 U A Th o T b, BUEAKOBIC X B RIRORE
WEL S,
Fo, HEMFORITIBOBrOERIZERNS 1

B

i

1 7o TWA,






